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< 4,952
Al 11,556
ANEZASH XE (HL XA ) (2) 130,100 166,880 A 36,780
| 65,050
< 19,515
Al 45,535
101 124 dl 15,000 15,000 0
| 7,500
= 2,250
Al 5,250
4 D12t ZE2XNEES 15,000 15,000 0
OHAREXN ALY BX01H 15,000
—Jlea(=z5sY I8
48,2403 * 198 = 277¢ 13,363
| 6,682
< 2,005
Al 4,676
—402& 2L ol 1,637,000& * 1 1,637
| 818
< 245
Al 574
301 L2 A S 115,100 151,880 A 36,780
| 57,550
< 17,265
Al 40,285
01 A EE E 2563 115,100 151,880 A 36,780




A EAA
FM: BAANY B43(BA/BEHAZ)
el HEA OEAY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHMeA==FA=H XN 998,000& = 1004H 99,800
J| 49,900
< 14,970
Al 34,930
Oela3=FA=Hl X 191,250& * 80 15,300
J| 7,650
= 2,295
Al 5,355
EMOt 014 EMFASKE(Z) 246,000 282,600 A 36,600
< 73,800
Al 172,200
301 gt d= 246,000 282,600 236,600
< 73,800
Al 172,200
01 MI2EZE +06l= 246,000 282,600 A 36,600
O=Mot Ola sdt&EeHd2 X
50,000& = 4108 » 123 246,000
= 73,800
Al 172,200
HEIIXHZAXE () 1,660 1,720 260
J| 830
< 249
Al 581
301 et Az 1,660 1,720 260
J| 830
= 249
Al 581
01 Ml2ZHE 6= 1,660 1,720 A 60
OLtE ZIINHAH(ZAY]) 20,0008 * 83YH 1,660
J| 830
< 249
Al 581
NEdst=8 FQUQAAMINL (L) 9,000 9,000 0
< 1,800
Al 7,200
201 L2l 6,300 6,300 0
= 1,260
Al 5,040
01 At 22l 6,300 6,300 0
ONBAIZ FOQANM HA 2D
100,000& = 103 » 4& 4,000
= 800
Al 3,200
OsdZdus 82 2,300&8 = 13 = 1,0000H 2,300
< 460
Al 1,840
202 04 Hl 2,700 2,700 0




A EAA
HM: BAANY SH(BEH/BEAHAZ)
el HEL DALY CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 540
Al 2,160
01 2Ll 2,700 2,700 0
OSMEHAISEF=E Y|
90,000& = 3¥ = 103/ 2,700
& 540
Al 2,160
HXEOIAIIE RS AH(E) 10,200 9,300 900
& 3,060
Al 7,140
301 et A= 10,200 9,300 900
& 3,060
Al 7,140
01 Al E & A 46 2 10,200 9,300 900
OKNZXHOlI& JIF 2& & XZH|
50,0008 * 2049 10,200
& 3,060
Al 7,140
NS 2L O HHQAA(Z) 7,500 7,500 0
& 1,500
Al 6,000
307 2iz2to| & 7,500 7,500 0
== 1,500
Al 6,000
02 QIZ2HA AAIE E X 7,500 7,500 0
OMESA=2E2 2y 0] 2HH Q!
7,500,000& = 13| 7,500
& 1,500
Al 6,000
HAE AQ O 2Hl XN (=2) 3,600 3,600 0
J| 1,800
& 540
Al 1,260
307 2iz2to| & 3,600 3,600 0
J| 1,800
= 540
Al 1,260
05 QIZ2tR E 2 3,600 0 3,600
OFAE M2 o=l WE 1,200,000 = 3H 3,600
J| 1,800
= 540
Al 1,260
EZ=ONBAHSEH(Z2) 640 640 0
J| 320
& 96
Al 224
307 QI2t0| & 640 640 0
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CHE - EI(BA) - NRAY - BYS

0l &t o

=

i
2m

ol I

320
96
224

H&EdlE olE

1,600% = 400

=

640

640
320

96
224

640

M

bl
]

o |

J

PR X2 AE

4
W

(=)

= MW

500,000
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= MW
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= N H
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500,000
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175,000
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x
He
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O
ne
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0
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= M

6,000

1,800
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e
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= M
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A 19,000

01 At2 2t 2l bl
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50,000& * 20CH

= M

1,000

1,000

300
700

20,000

A 19,000

405 At&tE =HI

= M
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1,500
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5,000

250,000& * 20CH

H

Al

5,000

5,000

1,500
3,500

5,000
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o
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o
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H
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H
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13,000
6,500
1,950
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13,000

J|

H

13,000

6,500
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A EAA
FM: BAANY B43(BA/BEHAZ)
Sl MEA ALY CEE-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 4,550
01 MEIBZE 06z 13,000 0 13,000
Ounegdda: olzdl & 500,000 * 26H 13,000
J| 6,500
< 1,950
Al 4,550
HASE JIMA - ZHES NJAL () 38,620 0 38,620
= 19,310
= 5,793
Al 13,517
307 21201 A 38,620 0 38,620
= 19,310
= 5,793
Al 13,517
05 RIZtI & 3 38,620 0 38,620
OMASEIIMAZNERK S AL
386,200 * 1009 38,620
= 19,310
= 5,793
Al 13,517
Ha2AH 272,639 212,270 60,369
| 88,571
< 46,437
Al 137,631
FAAH2ZAY 10,600 9,880 720
201 Let2d] 9,440 9,080 360
01 At 22l 9,440 9,080 360
OFAUALIMNY 222 L stz R
1,000& = 25 = 1,00004 2,000
OFMEANOY ag 1,920
—Jlez 70,000& * 6 * 23| 840
— 044l 90,000& = 6" =« 23| 1,080
OBMBANBIR £ 5,520
—Jl== 70,0003 = 48 = 123 3,360
— 0ol 90,000& = 2% « 123 2,160
301 L2 A= 1,160 800 360
MIIEBEAS 1,160 800 360
OFAEAH LA 1,160
—Jl== 80,000& = 103l 800
— Ol 90,000& = 1 * 43| 360
Zaiae| ALY 2,200 2,980 AT780
201 L2l 1,120 1,900 AT780
01 At 22l 1,000 1,000 0




CEPS
BAAMY S4d5(2AHA/2AH
sa=a (29l & 2)
5 - 4
SA - BB B (BA) - MM - BHES e HmEET
OZdHzelAY 222 M
1,000& * 1,0000H 1,000
02 =224l 120 900 AT780
OZsA JIHE A X
00& » 23| = 128 120
307 glz2tol & 1,080 1,080 0
01 22272l 1,080 1,080 0
OZHE R G A 9,000& * 20 » 64 1,080
KNAAMFANBHAIE (Z) 6,600 4,572 2,028
< 1,980
Al 4,620
201 L2l 4,600 4,572 28
< 1,380
Al 3,220
01 At 22l 4,600 4,572 28
O&daAL e B 460,000& = 1038 4,600
< 1,380
Al 3,220
202 04l 2,000 0 2,000
< 600
Al 1,400
01 = LHA YI 2,000 0 2,000
OFAMAEI Atdli el &Sl
20,0003 = 108 » 10 2,000
< 600
Al 1,400
Xof XZHl NAAE (=) 110,400 67,000 43,400
J| 55,200
< 16,560
Al 38,640
301 et A Z 110,400 67,000 43,400
J| 55,200
= 16,560
Al 38,640
01 Ml28E 6= 110,400 67,000 43,400
OXXE ZHelt X (oA 2z)
240,000 = 4609H 110,400
J| 55,200
< 16,560
Al 38,640
Xohagd 2 X2 (= 4,000 4,000 0
< 1,000
Al 3,000
201 Let24d] 500 500 0
< 125
Al 375
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Off &t 24

=

i
2m

01 At 22l bl

OXIHAIE EE iz M=
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17,500% = 100¥ = 25

= M
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13,900
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H
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N
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H
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2,178
5,082

3,670
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H

Al
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1,992
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10,080

A 3,440

OXIMHBEAL & MEEHZ AlH M3
6,000 * 110E = 43

OXIHB &AL ESH K&
20,000& = 100& = 23

H

Al

= M

2,640

2,640
792
1,848

4,000

4,000

1,200
2,800
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7,200

A 240

A 3,200

XOH&EE XA (E)

= M

45,266

13,580
31,686

47,500

N2,234

206 M= Hl

H

Al

25,840

7,752
18,088

22,500

3,340

01 M=l

OXmaZ=z7d g 2
19,000& = 17014 = 802
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25,840

25,840
7,752
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A EAA
FM: BAANY B43(BA/BEHAZ)
cels HagA (ol &9)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 18,088
301 et d = 19,426 25,000 A5 ,574
< 5,828
Al 13,598
09 HALAHIEA S 6,336 7,500 A1,164
OXMa=20d WA 2tA M3
3,000& = 264H =« 83| 6,336
< 1,901
Al 4,435
NJIEEd=s 13,090 17,500 N4,410
ORIz e AdAxE
70,000& « 1873l 13,090
= 3,927
Al 9,163
ZHBTNE = JAHIXIE () 4,820 5,104 A 284
Jl| 2,410
< 723
Al 1,687
301 et d=s 4,820 0 4,820
J| 2,410
< 723
Al 1,687
01 MEI2EZE+05l= 4,820 0 4,820
OZ=EX JAH XA 48,200& = 100 4,820
J| 2,410
< 723
Al 1,687
TR () 7,670 5,000 2,670
J| 3,835
< 1,151
Al 2,684
301 et a s 7,670 5,000 2,670
J| 3,835
< 1,151
Al 2,684
01 MEIBEE 263 7,670 5,000 2,670
O3B ZHS&A NF 7,670,0008 « 1H 7,670
J| 3,835
< 1,151
Al 2,684
BALZHALAS T AHZ) 10,638 8,176 2,462
J| 5,319
< 1,596
Al 3,723
201 £B-2d| 2,838 2,776 62
J| 1,419
< 426

_20_




A EAA
I BAAY BHS(EA/EHdE
cels HagA (ol &9)
SN BA(SA) - MRAY - BES il HImEET
Al 993
01 At 22l 2,838 2,776 62
o222 M 1,000& * 2,8380H 2,838
J| 1,419
< 426
Al 993
202 4l 1,400 1,400 0
J| 700
< 210
Al 490
01 = LH 4 di 1,400 1,400 0
OZSYYX ASEZA 01|
1,400,000& * 19H 1,400
J| 700
< 210
Al 490
307 21201 A 6,400 4,000 2,400
J| 3,200
= 960
Al 2,240
01 222l 6,400 4,000 2,400
OZHei X S Akt 10,0002 * 480H 4,800
J| 2,400
< 720
Al 1,680
OZsierE 2l 80,000& = 203l 1,600
J| 800
< 240
Al 560
HET el 2SS AH(R) 31,622 31,622 0
J| 15,811
Al 15,811
101 @124l 31,622 31,622 0
J| 15,811
Al 15,811
04 JI12ZtHZ22HEE = 31,622 31,622 0
OAHI(E X2 &) 28,000,000& » 1H 28,000
p] 14,000
Al 14,000
O42d & ol 3,622,000& * 19 3,622
J| 1,811
Al 1,811
St ZEAXAMS(Z) 8,386 6,920 1,466
< 2,516
Al 5,870
307 21201 A 8,386 6,920 1,466
< 2,516




A EAA
HM: BAANY SH(BEH/BEAHAZ)
cels HagA (ol &9)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
Al 5,870
o1 s R=dl 8,386 6,920 1,466
O=stM ZH AR ALY 8,386,000 = 1A 8,386
= 2,516
Al 5,870
AU ATR(2) 5,708 3,460 2,248
J| 2,854
= 856
Al 1,998
307 QI2t0| & 5,708 3,460 2,248
J| 2,854
=} 856
Al 1,998
o1 o= 5,708 3,460 2,248
Oo&=Eas AN L XS H 2,854 + 2,000 5,708
J| 2,854
& 856
Al 1,998
HAAHSGEALIHI K (Z2) 6,284 2,306 3,978
J| 3,142
= 942
Al 2,200
307 2Iz2t0| A 6,284 2,306 3,978
J| 3,142
== 942
Al 2,200
01 e =t 6,284 2,306 3,978
OZsi& X HdAF & EH=sH| 9,107& * 690H 6,284
J| 3,142
=} 942
Al 2,200
SAATMLAF S0 AH (T) 4,545 0 4,545
& 1,363
Al 3,182
201 et | 1,750 0 1,750
& 525
Al 1,225
01 AP 2t 2] H| 1,750 0 1,750
OFNBAHAAXIOISE AN WFH|
1,750,000 =1 1,750
o=} 525
Al 1,225
202 04d| 2,795 0 2,795
& 838
Al 1,957
01 2L bl 2,795 0 2,795

- 22 -




A EAA
HM: BAANY SH(BEH/BEAHAZ)
cels HagA (ol &9)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
SEREEEENEE R
2,795,000 * 1H 2,795
& 838
Al 1,957
HAZHCE2XNZSE (AL 2R /FHAHSKH) 240,816 240,816 0
== 20,047
Al 220,769
HAEOHS SEXNSE 240,816 240,816 0
= 20,047
Al 220,769
HAMEET AMSIEHAE 2H(T) 240,816 240,816 0
o= 20,047
Al 220,769
307 212t0| ™ 240,816 240,816 0]
=} 20,047
Al 220,769
10 AISIEXAIEEHE2IHIEX 232,416 232,416 0
OFNEEX AISIE2HAIE 2AHI
232,416,000& = 10 A 232,416
= 17,527
Al 214,889
11 A EXAIEEX 8,400 8,400 0
OFNMEEX AISIEHAIE SAXIEH
140,000& * 5¥ = 128 8,400
o 2,520
Al 5,880
SHMSAAH (EAAFS D) (IIEH/DIE) 867,719 850,278 17,441
oA A 505,997 497,124 8,873
ol 2AHH| 505,997 497 124 8,873
101 @1214| 505,997 497 124 8,873
01 = 243,678 240,039 3,639
OAZAZ2R4S(BAHA BEHIA BAHRZA)
9,332& * 68 * 32A12F x 128 243,678
02 JIEtE 2 % 230,400 230,400 0
OZ2FEHOA H 2 & =H|
800,000& * 24¥ = 12& 230,400
03 2INHAZ2ZXNHE %= 31,919 26,685 5,234
OF A2 31,919
—-Jl23 1,413,410 = 1€ » 128 16,961
— &= 1,413,410 = 100% * 1Y€ * 43| 5,654
— HA S|
1,413,410 = 75%  1¥ * 23| 2,121
—N2eRReY
10,8198 * 150% * 17Al2F » 1&H x 12&€ 3,311
— RS EIISE 86,5523 x 18 » 17¢ 1,472

_23_




2N
X ZH -
L= B

el

re 2 Hr
1B 0 ¥
H0 MO B>~

02 02

(O]

=

it
Y

=5

At

11

DH) (D1 EFH/DIE})

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

— HHZ A 100,000& » 1¥9 = 128 1,200

— WEEXH| 100,000& * 198 = 12& 1,200
DIR= sl 361,722 353, 154 8,568
Jl2&l 361,722 353, 154 8,568
201 Bt A H| 141,612 140,054 1,558
01 AtR 22l b 64,298 63,740 558

OB2AAIS It 36,768

—SANSKX 2L 15,000& = 198+ A « 128 3,420

— EZ20HAHI 6,000& * 64! x 19 = 12& 8,208

— bl 100,000& = 12& 1,200

— A2 EAF7LH 50,000& * 12& 600

— A2 =44 7,680

- SAD Fe2l(AE) 500,000& = 1CH 500

el %2l 100,000 = 4CH = 50/100 200

SAMNI EYH 200,000& = 53] = 104 1,000

D2 ELH(EW)
200,000& * 53 * 404 4,000
T2 E4(2et)

200,000& * 53 = 1CH 1,000

- PC =2l 100,000 = 19CH = 20/100 380

- JIEF =2l bl 50,000& = 12& 600

— JIEF AP 22| 5,000& = 19¥ = 128 1,140

— 2 - =AY 14,520

eIEN 60,000& = 1¥ = 118 7,080

=& 30,000 » 1¥ x 2482 7,440

OB2AX & 12,692

— SASA 7Y 15,000& * 178+ A « 128 3,060

— SEZ20A I 6,000& * 34 x 174 = 12& 3,672

— Y2 100,000& * 10JH & 1,000

—AR2 =44 3,940

ZSAI| %2l 500,000& = 1CH 500

Zely 2l

100,000 * 10004 = 50/100 500

SA EY 200,000€ * 23| ~ 1CH 400

-T2y EY 200,000 * 23 * 404 1,600

- PC #=2| 100,000 = 17CH = 20/100 340

- JIEF ==2lbl 50,000& * 12& 600

— JIEF AFR 22| H] 5,000& * 17 x 12& 1,020

oBAHdZ & 14,838

— SASA 7Y 15,000 * 138 A * 128 2,340

— SZ20A I 6,000& * 34 x 13" = 12& 2,808

— Yt 100,000& = 130 A 1,300

_24_




MY .S (3H) - HRAY - BES 0 4t 04 il 2t
— A2 $=4&H| 7,610
S A =2l 500,000& * 1CH 500
ZelE =2l
100,000 = 13J0 A * 50/100 650
- EAJ EYH 200,000& * 23 = 104 400
-T2l EY 200,000& = 23] = 1304 5,200
- PC %2l 100,000€ * 13CH = 20/100 260
- JIEF ==2lbl 50,000& * 12& 600
— JIEF AFR2t2|HI 5,000& * 13¥ = 12& 780
02 3524 H| 77,314 76,314 1,000
OIS (E5HE X&) 58,444
23 8,320& * 500KW » 12& 49,920
—ABQR2(7~88)
191.1& = 5,000KN = 2& 1,911
- ANE22(3~68, 9~108)
109.3& * 5,000KN = 6& 3,279
—A22(11~28)
166.7& * 5,000KN = 4& 3,334
ONge2 100,000& * 128 1,200
O&dt=E22 300,000& = 128 3,600
OA2gtotdE 3 Y| 50,000& = 13 50
Ol HMEH =235 1,000,000& = 13 1,000
ot reE2 200,000& * 23] 400
O23J|& gt X = 120,000& * 23] 240
Ooggt&e| X+ A3l 100,000& * 13 100
O8xTdEHAL =2 500,000& = 23| 1,000
O2ANESE 2ERZ 6,480
ol gt 300& * 50000 = 12& 1,800
- Sl 1,950& = 20008 = 12& 4,680
OBHAEBANAY SXEBS
200,000& * 20HA = 12&€ 4,800
o4 bl 199,080 193,880 5,200
= LH O I 199,080 193,880 5,200
OBAHAMY N SR2=X0{H| 71,820
— ZHLH O B 20,000& » 199 * 12 » 12& 54,720
— 22/ 04 Hl 90,000 » 19 = 10 17,100
OBSTEH2AA ERFX NI 23,760
— 2L O B 20,000 » 244 * 32 * 12& 17,280
2 2 O b 90,000& * 24% = 3¢ 6,480
OBAXN A, g =X 0| 103,500
— 2o bl 250,000& » 30H = 12& 90,000
— 2204 Hl 90,000& *» 304 = 5 13,500
203 ¥R =&H| 11,480 11,420 60

_25_
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O3duss tES 2,000,000& = 1CH 2,000
| 1,000
< 300
Al 700
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A EAA
HIH: AQIHY ST(BH/B2HAAZ)
Shelr AL ALY (el @2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Al 140
202 04 d| 1,500 0 1,500
= 450
Al 1,050
03 2L R0ib| 1,500 0 1,500
OHZMOIS LAY &KX AE
1,500,000& = 1H 1,500
= 450
Al 1,050
206 M = Hl 7,200 5,250 1,950
= 2,160
Al 5,040
01 & bl 7,200 5,250 1,950
OXlojogr =20 29 M7
12,000& = 20 = 15J00H A 3,600
== 1,080
Al 2,520
OAEYAZe ET20)dH 24 7Y
12,000& * 20¥ = 15004 3,600
== 1,080
Al 2,520
301 dEtEAZ 20,900 14,550 6,350
== 6,270
Al 14,630
06 212to1 =22 (4 4] 1,500 0 1,500
OHZMOIS ZHEAYE &KX AE
1,500,000& = 1H 1,500
== 450
Al 1,050
09 HAIAHIBEAZ 5,600 3,300 2,300
OHZMOIS F=X/ARJ/S 2tE3F
250,000 = 43| 1,000
== 300
Al 700
OAZMDOIS T2 FHAI 2HAHZ
2,000& * 100 = 234 4 4,600
== 1,380
Al 3,220
11 IIEtE A2 13,800 11,250 2,550
Ol X I =4l 200,000& = 12& 2,400
o= 720
Al 1,680
OAZMOIE ZHEAIY IS AH 2SI
10,000& * 10¥ * 203 2,000
o= 600
Al 1,400
OAZMOIE ZEAIY 2E3F Z2IIE Atd bl
100,000& = 5& 500
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A EAA
HE: AQIAY SE(2A/BAAR)
@l SR8 A (chel: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— oA 2,500& = 5004 1,250
— B H ALK 50,000& * 20= 1,000
gt & s ZelAtd 6,800 6,800 0
201 Let249] 2,000 2,000 0
01 At 22l 2,000 2,000 0
Ottd& g & g 2= A
1,000& = 45 » 5008 2,000
206 M= Hl 2,000 2,000 0
01 MZ 4l 2,000 2,000 0
Oz azlu=s HsI(30 S)
10,000& * 2& = 1009H 2,000
301 et a3z 700 700 0
MIEE43 700 700 0
OB TREIDSE AL (DEY L Yk)
100,000& = 73l 700
307 21201 A 2,100 2,100 0
01 92724l 2,100 2,100 0
Ogtd ™ e itztel AKX 2 2,100
SdAHE Z ALK 50,000& * 20& 1,000
— 2= F AKX 30,000& * 20 600
— Al 20,000& * 20 400
—E2X¢ 5,000& = 2004 100
SIS ZINHIANS (=) 83,700 99,500 A 15,800
J| 41,850
< 12,555
Al 29,295
201 Let24d] 3,500 3,500 0
J| 1,750
= 525
Al 1,225
01 At 22l 3,500 3,500 0
OgAa2dZ& s2H| 1,000& * 3,500 3,500
J| 1,750
< 525
Al 1,225
301 et d =S 80,200 96,000 A 15,800
J| 40,100
< 12,030
Al 28,070
01 MEIBEZE+05l= 80,200 96,000 A 15,800
Oogdd HEZ3 5,000& = 16,0409 80,200
J| 40,100
< 12,030
Al 28,070
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A EAA

BE: AQIAY BH(BA/2A2)

G 228 2H AY (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o220 ==X BEAY (2) 20,570 20,000 570

Il 16,456
Al 4,114
301 LBt A= 20,570 20,000 570
Il 16,456
Al 4,114
01 AISIE & A %52 20,570 20,000 570
OolE42AN AAAX K=
20,5703 = 1,000 20,570
J| 16,456
Al 4,114
S IO 2 HI KA (=) 90,000 90,000 0
bl 45,000
= 13,500
Al 31,500
301 LBt A= 90,000 90,000 0]
Dl 45,000
o 13,500
Al 31,500
01 Al E& A %52 90,000 90,000 0
otEt X o2 H| K& 900,000& = 100 90,000
bl 45,000
= 13,500
Al 31,500
THOtS S T2 2 AL (2) 3,326 3,326 0
J| 1,663
= 499
Al 1,164
307 giztol & 3,326 3,326 0
J| 1,663
& 499
Al 1,164
o1 s R=tl 3,326 3,326 0
OXLET 2z 4228 2
33,260 * 5= x 20Y¥ 3,326
J| 1,663
= 499
Al 1,164
FOHS MR B AL B A (2) 6,975 7,897 922
J| 5,580
Al 1,395
201 et2 Y| 375 375 0
J| 300
Al 75
01 AP 22| d| 375 375 0
OMH2LHE ZEH| 3,750& x 1004 375
J| 300
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A EAA
FM: ANUAY SE(BAH/BA9=E)
ol H2EA Al CEEEED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 75
301 gEtE A= 6,600 7,522 A 922
J| 5,280
Al 1,320
01 MEI2EZE %06z 6,600 7,522 A 922
OFOHZS MOES)| ALAW (2
66,000& = 1009H 6,600
J| 5,280
Al 1,320
SIAUXHEEIOZH (=) 85,520 140,000 A 54,480
J| 42,760
< 12,828
Al 29,932
301 gtE L= 85,520 140,000 A 54,480
J| 42,760
< 12,828
Al 29,932
01 Ml2EZE 46z 85,520 140,000 A 54,480
O AHUXNLEEI 2A2Hl HES
1,710,400& * 50 85,520
J| 42,760
< 12,828
Al 29,932
AL E20S2AIAMNSXR(Z) 3,000 3,000 0
J| 1,500
Al 1,500
201 £B-2dH| 3,000 3,000 0
J| 1,500
Al 1,500
01 At 22/l 3,000 3,000 0
Odclgaz s 22|zl = (FMTP)
3,000,000& = 1H 3,000
J| 1,500
Al 1,500
KA AZEAH(F) 46,194 46,902 AT708
J| 23,097
< 6,929
Al 16,168
201 Let24d] 300 300 0
| 150
< 45
Al 105
01 At 22l 300 300 0
OXSAMNBALZA EBEESE 2L
500& = 600K 300
J| 150
< 45
Al 105
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A EAA
HE: AQIAY SE(2A/BAAR)
el geEd Al CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 200 200 0
J| 100
< 30
Al 70
09 HALAHIEA S 200 200 0
OXN DA A2 AL 2tE3l 50,0008 * 43 200
J| 100
= 30
Al 70
307 21201 A 45,694 46,402 A708
J| 22,847
< 6,854
Al 15,993
05 RIZt2IEt = 45,694 46,402 AT708
02016 XD ALEl A2 Z A
45,694,000 * 14l 45,694
J| 22,847
< 6,854
Al 15,993
Y LS EMS(T) 3,750 3,750 0
< 1,125
Al 2,625
301 et a s 3,750 3,750 0
< 1,125
Al 2,625
01 MEIBEE 263 3,750 3,750 0
Odgd H&| 25,000& = 1509H 3,750
S 1,125
Al 2,625
SnYUEES LM (E) 4,000 4,000 0
= 1,200
Al 2,800
307 21201 A 4,000 4,000 0
< 1,200
Al 2,800
01 222l 4,000 4,000 0
OYnEdgs A 10,0002 * 400 4,000
< 1,200
Al 2,800
SEAL2LIAIG(Z) 5,930 6,000 AT0
< 1,780
Al 4,150
307 glz2+ol & 5,930 4,000 1,930
< 1,780
Al 4,150
01 22724l 5,930 4,000 1,930
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A EAA
I ANQAHY S (BA/EH98)
el WEEA Al (el @2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OUEATBNG CRL0E 2o (2a~d
£ 2 48) 11,860& = 1008 * 55 5,930
=) 1,780
Al 4,150
2c20ts AZLEH SAIHY 29 (%) 11,000 11,000 0
< 3,300
Al 7,700
201 ¢er24l 3,620 4,880 A 1,260
< 1,086
Al 2,534
01 AF22t2l bl 3,620 4,880 A 1,260
OXNESA 2223 #2  1,810&  2,00004 3,620
=) 1,086
Al 2,534
202 044l 2,160 3,120 A 960
=) 648
Al 1,512
01 SLHOYI 2,160 3,120 A 960
Le0tg ASMEL ST Ot
90,000& = 2% = 12¢ 2,160
=) 648
Al 1,512
206 M= Hl 720 0 720
< 216
Al 504
01 M= dl 720 0 720
OXNESALA = Ml
12,0003 = 30Y « 23] 720
= 216
Al 504
301 et a = 4,500 3,000 1,500
=) 1,350
Al 3,150
09 &AL HI B &S 4,000 3,000 1,000
OXEAS AR &AF EOH 0 HI
10,000& = 50 « 83l 4,000
= 1,200
Al 2,800
MIIEBE4d3 500 0 500
OXNESALA s ZA=&  100,000& = 52l 500
< 150
Al 350
ol atel A 1,610,958 1,621,463 A 10,505
= 19,692
J| 574,326
< 174,667
Al 842,273
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A EAA
M AQAY SA(BEAH/BHZ)
Sl oY B2l Al (S &2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
— 22 &45H 30,000& =* 300 9,000
301 dEtE A= 900 900 0
11 IIEtE A2 900 900 0
Ogr & 212tol moi24 300,000& * 32 900
307 212t01 & 176,900 287,770 A 110,870
01 o222 = H| 165,600 276,770 A 111,170
O=JIg 4 g E S 234l 158,600
— Cl Ol el 20,000& * 2,000 40,000
— A 0+0HY] 10,000& * 600 6,000
—BE 2t 6,000& = 1,0009 6,000
— =5 11,100& = 400 4,440
—El g 15,000& = 1,000™ 15,000
— oot 10,000& = 5004 5,000
= 15,000& = 2,000 30,000
— &EIEA 4,000& = 300& 1,200
—NESZEELZE 7,4003 * 4004 2,960
—AE 2t 15,000& = 1,0009 15,000
— 20tH & 60,000& * 5009 30,000
— =g 6,000& * 5009 3,000
OHsEEEZTARE 7,000
—E1H(ASE) 5,000& x 500 2,500
— 243 EF A 200& * 10,0004 2,000
— &= A=A 25,000& * 10074 2,500
05 oI2t2 et 32 11,300 11,000 300
Ostdlg 22|83 /=2 11,300,000& * 13 11,300
405 X+H&HF SHI 13,500 5,500 8,000
01 A&t = S F SHI 13,500 5,500 8,000
OYAALSTY 7Y 9,500
22, COABASI(BUE, EALE/S
H=19) 700,000& = 10CH 7,000
— 22, duAZASI (A2, EINS)
2,500,000& * 1CH 2,500
O3J1&aa 33| 2,000,000& = 2CH 4,000
BALHLESSSUEHSY(2) 22,202 21,565 647
Dl 11,101
Al 11,101
101 2124 d| 22,202 21,555 647
Dl 11,101
Al 11,101
04 JI2ZtHI22 NS E 22,202 21,555 647
ONLEESEHNH 29 22,202
— OIAH| (B &2 Z&) 19,000,000& » 1H 19,000
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CEPS
NEIAY BR(2A/2A2AE)
ofler2te] At (&2 &)
SA BB (SH) - NRAY - B ﬁlf& HD=2
Pl 9,500
Al 9,500
—AHEE & b 3,202,000 = 1A 3,202
J| 1,601
Al 1,601
THOHCHH It ASUHEZDA XA (E) 10,000 ,000 0
& 3,000
Al 7,000
206 M = dl 10,000 ,000 0
& 3,000
Al 7,000
01 X2 bl 10,000 ,000 0
OB HE LHAS %E DY
25,000& * 400 10,000
& 3,000
Al 7,000
BEIY AHUY KYAY(R) 2,540 284 1,256
J| 1,270
& 381
Al 889
307 212t01 & 2,540 ,284 1,256
J| 1,270
& 381
Al 889
01 2L R =H| 2,540 ,284 1,256
OBE2S X2 YA 50,8008 + 50 2,540
J| 1,270
< 381
Al 889
el ol EXH(Z2) 658,310 , 432 26,878
| 329,155
= 98,746
Al 230,409
307 212t0| & 658,310 ,432 26,878
J| 329,155
& 98,746
Al 230,409
01 s =l 658,310 ,432 26,878
OoI2tgolad H&Hl K&
149,956& * 4,000 599,824
Jl 299,920
= 89,973
Al 209,931
OBHA HEES 4E 2|
58,486& * 1,000 58,486
J| 29,235
= 8,773
Al 20,478




A EAA

FM: ANUAY SE(BAH/BA9=E)

Sl oolg2el At (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SolSEEXR(R) 462,800 452,998 9,802

| 231,400
< 69,420
Al 161,980
307 gl2tol & 462,800 452,998 9,802
J| 231,400
= 69,420
Al 161,980
01 2=zL =4l 462,800 452,998 9,802
OelZ=RAUXL HAF FEH X
20,000& = 19,100 382,000
| 191,000
< 57,300
Al 133,700
OUABZAT HYHE %E 2|
10,520& * 3,000 31,560
| 15,780
=3 4,734
Al 11,046
OLQHE NYBE %2 Y|
18,840& * 2,400 45,216
| 22,608
< 6,782
Al 15,826
OUBSSE 5 YT AE2Y)
16,0902 * 200 3,218
| 1,609
= 483
Al 1,126
OZEIFA HYES o4F 2|
8,060& = 1009H 806
| 403
< 121
Al 282
BALAGYEARIWER(T) 3,492 3,492 0
= 3,492
201 LB-2d| 3,492 3,492 0
= 3,492
01 At 2t 2l 3,492 3,492 0
OZgYd d2It W=l 3,492,000 » 1H 3,492
= 3,492
B QITII B A1 T BH K AY S X 21 AL () 16,200 16,200 0
= 16,200
301 L2 A S 16,200 16,200 0
= 16,200
01 MEIBEE 53 16,200 16,200 0
Ogtdiol mioh At 48 X 1,800,000& = 9H 16,200
= 16,200
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A EAA
HE: AQIAY SE(2A/BAAAR)
Sl oolg2el At (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
flol=2goeael X (=) 1,000 1,000 0
< 300
Al 700
201 £B-2d| 460 100 360
= 138
Al 322
01 At 22/l 460 100 360
OO0OI= e S22 M2 23,0008 * 205 460
< 138
Al 322
202 044l 540 900 A 360
< 162
Al 378
01 = LH o4 1l 540 900 A 360
Ooolol=2& Xt el ¢l
90,000& = 2% = 3 540
< 162
Al 378
ABSLAHULRZAE (Z) 8,000 8,000 0
< 2,400
Al 5,600
201 L2l 3,680 800 2,880
< 1,104
Al 2,576
01 At 2t 2l 3,680 800 2,880
OUE2YY HYE2SE 7
2,000& = 1,0000H4 2,000
< 600
Al 1,400
otszgd s28 MA
1,680& » 1,000% 1,680
< 504
Al 1,176
202 oddl 4,320 7,200 A 2,880
< 1,296
Al 3,024
01 = LH o4 1l 4,320 7,200 A 2,880
OtEsZEY HEXAAY Kol
90,000& = 2% * 3g * 83 4,320
< 1,296
Al 3,024
daHEe] At 102,109 50,679 51,430
101 @124 dl 17,849 0 17,849
04 JIZtHZ2XREES 17,849 0 17,849
OALATB2 BF0Y o 17,849
— R 48,2403 * 28 = 150 14,472
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A EAA
BE: AQIAY BH(BA/2A2)
Selr olgael At (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— %8, oum=8) 29
48,240% * 2% = 352 3,377
201 L2l 38,050 4,450 33,600
01 At 22l 3,550 1,750 1,800
Ogatdel A H= XMa2ldl 500& 1,900 950
OZadgeld MAA & EES MH
1002 * 58 * 1,000% 500
Oul=l 300
—dEE 50,000& » 29H 100
— X 2 40,0003 » 5¢ 200
OgMEY, HLTESA S 2 & ME ME
=l 65,0003 = 23| » 123 1,560
OYAE BAR IELY 242
20,0003 = 3H = 43| 240
02 =24l 34,500 2,700 31,800
OEAEHl Sl 2,700
— dgtstE A0 500,000& = 1CH 500
— 2% AsE4D| 500,000& =« 1CH 500
—OloI= & ALDI 500,000& * 1CH 500
— =2 Z At &l 300,000& = 2CH 600
—SNUNF WHD 300,000& * 2CH 600
OZArE A ZH 2 PACSAMH RXIH 31,800
—SANLEAI RN
1,800,000&  1CH  12&8 21,600
— oS HANEESAAE(PACS) =Xl
850,000& = 104 » 123 10,200
207 Ao & H| 46,210 46,229 A19
03 Al & 1HI 46,210 46,229 A19
OLardelZ A Al 39,430
— HEIZEA A A
170,000& = 59 = 35 2,550
— Z2dict ZAF Al 170,000& * 298 * 28 680
- =& & 55,000& = 49¥ » 5& 1,100
—43g of 110,000& * 3021 E 3,300
— A of 110,000& * 3021 E 3,300
— &Y ZA Al 100,000 = 3B » 1091E 3,000
—olor= 360,000& = 531 E 1,800
—2ls
130,000& = 7& = 53| E 4,550
—NEHIIs BA Al
130,000& = 7& = 531 E 4,550
-2k 35,000& » 16091 E 5,600
— 2 g ot 50,000& = 10021 & 5,000
— gstg Ab AI2E 100,000 * 4091 E 4,000

_54_




A EAA
FM: ANUAY SE(BAH/BA9=E)
Selr olgael At fEH)
= _ — d =
SA - BB B (BA) - MM - BHES e
Ogadeld A M= 6,780
— = A 200& = 8,0000H 1,600
— =X+ 26,000& = 5& = 1004 1,300
— 238 &= 56,0004 * 28 * 10 1,120
—=ZZAM WY 1,500& * 2004 300
— ool g 99,000& * 38 » 53 1,485
—JIEt AL W ZE 13,000& * 158 = 5& 975
SAASHUNOI ORI AR (2) 2,800 2,888 88
J| 1,400
S 420
Al 980
207 Ao H| 2,800 2,888 A 88
J| 1,400
< 420
Al 980
03 Al & 11HI 2,800 2,888 A 88
Oulol= A Al 2 199,600 * 10& 1,996
J| 998
< 299
Al 699
Oodg & Al 2 80,400& * 108 804
J| 402
< 121
Al 281
SRR AR 33,921 46,753 A 12,832
< 3,000
Al 30,921
= QIR e 11,116 26,894 A15,778
201 Lt 2| 6.116 17,944 A 11,828
01 At 22l 4,816 6,294 A1,478
OQIaa e1s) 28 40,000& * 5& 200
odzgld 2= M 500& = 2,0000H 1,000
OQJKNA CIM=E M=
500& * 2& * 1,0000H 1,000
O&ga AAM AKX B=Z 11,5008 * 800 1,200
O2X0te ASHRFX 042X S4ld|
6,000& = 89 = 13| » 12& 576
oga 2825 ¢
200,000& = 10 = 30/100 600
OXZ A 2tS A D2 2
60,000& = 1= » 49 240
02 =224l 1,300 11,650 A 10,350
OALZ& FHul RAUI(ARHSELI 2 48)
00,000& * 53 1,000

_55_




o o o o (<o) © (<o) o o (@] o (] [eV) [eV) [aV] [aN] [aN)
o (@) [Ye) [Ye) < © © [o0) [o6] [ [ [ (o)) D
S |S © |0 S | © | © N | —loo e e
A0 o |m < | < ol NN Jlala ] <<
Ko < 1< AU BRI IR
E|
E=]
o o o o D ()] D o o o o o © © [<o] [<o] ©
o o o] o] Yo} Yol L0 (e} o o o o [T} Yo} 9] — —
© [¢e) [ep] (ep] o] [a\] [a\] © © (@] o o o) [o0) [ee] [e o] e0)
N~ N — |- o | o | — |- o o o o |lw|w|wv v
— — — — ==l |
LH3r —|— |-
uilEd
k=S
o o o o o o o o o [Te) Y] Ye) Ye) [Co) (o)) o () () o () o o o o o O o O O o o O O <t <t <t <t <t
o o o o o o o o o o [aN] [aN] Al [ep] 6] [06) o) [de] o (o] [aN) o Al o O O o O O o o O O [o6) [o0) [e @] [a\] (V)
®IN|N 8 S |® |0 F IR |90 A ©|R 0 5 S PeC B IS SSS 598 SS90 6|0 |
aor
<
=
H=| W= W=
0 Y 5 3 al all o o o] o] 0
o [aV] o — N o [Yg] w N [e0] o6} [Ye]
o — Y] Y] [ep] — [eV]
Ov x x * * — x * x mw * * x
or — = o * = =
0 * 80 of oﬁ_w_ mUT_ 0 30 W_ o mm ﬁ%_ o)
o o o o — o o o o o
BJ o) - 8 S < - % S8 W <2 < S
. S * s S 8 * - 8 o H 8 2 S
— [} ol
™ 1oy © < « o Ok N © gy o
mH_ of Ok Ok (@) _u_l =
o -8 S I
H.AI o _ N " N m_x
* of Ho < 3D N0 Ho oF —_
= | a2 T ol X ¥ o o - = 0
= _ B r o = w
< o oW T RN < oo | = )
~ |n w0 ~ g + X m 3w s < | U alu_ )
i W s ¥ XK N o w Ry w | o 2
SR g R = | uo K =4 or A ® = -~
bl - W i) T 0 = N Bl E= TR < I <+ W =
o WOl m | T |0 20 W o0 . WouoRIR S| fo RO o - |5
. A0 & [+ Do Rlu o v | ny & DF ik g | R0 om0 50 10 | of <0 K0 RJ =0 30 |3
- 0 S |k RO Z|w ok o0 M| _ |B|E ™ o K S|ok 0 W oW AN W WK py oA w_ o0 | Al
= B Dl s ®|zlz o R A_ﬂ SRR Al oo s | W 7 W= o 5 | o
(I (@) gl a1 O O|lrR |r O O o |~ O ol o1 O O = ol < O o S| <
. [l ey 0 | = | =[x ~ | = =] — — B |D |8 | =|=
o o o o —_ o o o o —_ o o - o o
g ® i < |- ® ~ & B[/ | W |
o+ od = H|W |~
RO |~
50

_56_



A EAA
M A Hd (AZ22)(IIEH/IIE
erel: Jl= 2| (29 a8)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OSAIEX #¢ 15,000& * 222t A x 12& 3,960
OSZ20Aadl 6,000 * 64l » 22H * 12& 9,504
Ogte2 100,000& * 128 1,200
oA EANFEHI 50,000& = 12& 600
O =464 8,540
— 2AD #2(4AE) 500,000& =« 1.50H 750
— TElE %2 100,000 * 5CH = 50/100 250
—SAI EY 200,000& * 53| = 1.504 1,500
— T2 EY 200,000& = 53] = 504 5,000
—PC =2l 100,000 * 22CH = 20/100 440
— JIEF =2lb]| 50,000& = 12& 600
OJIEF AFR 22l bl 5,000& * 22 = 12& 1,320
202 04| 83,160 84,640 A 1,480
01 2LHOHI 83,160 84,640 AN 1,480
Ozl RF=X0H| 83, 160
— 2L o B 20,000 » 229 * 122 x 12& 63,360
— 2204 bl 90,000& » 22 = 10 19,800
203 P2 E=AY| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
OBM2gd@ =&y (H2d2eln)
350,000& « 12& 4,200
204 &R = A H| 1,200 1,200 0
01 8z &l 1,200 1,200 0

A2l E)

100,000 18 « 123 1,200

_57_




